
 

In some cities and towns all over the world, the high volume of traffic is a problem. 

What are the causes of this and what actions can be taken to solve this problem? 
(Reported 2017, Academic Test) 

  

Some people think that in order to solve traffic and transportation problems people 
should be encouraged to live in cities rather than in suburbs or in the countryside. 

To what extent do you agree or disagree? (Reported 2017, Academic Test) 

  

The impact that the growing demand for more flights has had on the environment is a 
major concern for many countries.  Some people believe that one way to limit the 
number of people travelling by air is to increase  tax on flights. 

To what extent do you think this could solve the problem? 



  

Some people think that it should be compulsory for people to retake their driving test 
every 5 years. 

What are the advantages and disadvantages of doing this? 

  

Some people think an international car-free day is an effective way to reduce air 
pollution. Others think there are more effective ways do to this. 

Discuss both sides and give your opinion. (Reported 2017, Academic Test) 

  

One way to solve the problem of congestion on the roads is to increase the tax on 
private vehicles. 

How could this alleviate congestion? 

What other measures can you suggest to deal with congestion in cities? 

  

Some people think that in order to deal with the problem of congestion in cities, 
privately owned vehicles should be banned in city centers, while others consider this to 
be an unrealistic solution. 

Discuss both sides and give your opinion. 

  

A poor infrastructure hinders under-developed countries from progressing and 
modernising. Some people think that this should be the first problem tackled by foreign 
aid. 



To what extent do you agree with this opinion? 

  

One way to solve the problem of congestion in cities is to build sky trains which run 
overhead rather than on or under the ground. 

What are the advantages and disadvantages of using this solution to solve congestion? 

 


